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Stitrer drvaran afien
SCHOLASTIC APTITUDE TEST
38 TF-TH H HeA 100 997 F | Telieh W vk a7 R
THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

SAT-2

(vitfes Ram)
(Physics)
iy ai W wgE
(1) T, an, ama (2) &Ewd, U, gEaHH
(3) =T, TS, 3T (4) am, o, =

Group of vector quantities are :
(1) displacement, velocity, time

(2) area, density, mass
(3) speed, length, impulse

(4)" velocity, acceleration, force
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SAT-2

3.

4.

(4)

AC .
of2 =@, g A feda s A, B azn C g/ vaivia frl s g ag (—B—] Tefita
(1) w=&m (2)

(3) =m (4) e

If force, momentum and displacement are represented by A, B and C respectively

AC .
then the term (TJ will represent :

(1) momentum (2) acceleration

(3) velocity (4) displacement

gt weg W fordt =afa @ gemmm 60 kg @ SgH <Rl Wag W SEfE 1 geaue gen

(1) 60kg (2) 360kg

(4) 10kg

The mass of a person on earth surface is 60 kg then his mass on moon will be
(1) 60kg

(3) 20kg

(2) 360kg

(3) 20kg 4) 10kg

2 ZEAMHI % i gt SNt R W IR HEA EeaTshuul e Bl S

(1) s (2) T e
(3) < 4) I

On halved the distance between two masses, the gravitational force between them
will be

(1) half (2) one-fourth

(4) double

(3) fourtimes

NTSE()/20-21-SAT-702-B



(5)

6. UEwEE WA 250 m/s 7N A2 50 cm 3, W Am £ Ayt 20

SAT-2

12506 Hz

(1) 5Hz (2) 500Hz (3) 50Hz (4)

If the speed of wave is 250 m/s and its wavelength is 50 cm then the frequency will
be

(1) 5Hz (2) 500Hz (3) 50Hz (4)

¢ _s

12506 Hz

7. 10 gm z=um =1 fauz 10 m/s? =m 8 nfasim 2, forz @ = 7= 27m
(1) IN (2) 0.IN (3) 1000N (4)
An object of mass 10 gm is moving with an acceleration of 10 m/<%. Force acting
on the object will be
(1) IN (2) 0.IN (3) 100N ¢
8. TEE-
1 1 1 1,1 1
L V77 ) "7
111 1 1.1
(3) v u f (4) v zu f
Lens formulais
8 v u f 2) v 2u f
111 g 11
Yovou f Y YV 2 I

9. vEm TR EEFA A S0 cm 2, F\ F1 49N TAim d o

(1) 0.02 (2) 2 (3) 0.2 (4)

Focal length of a lens is 50 cm. In dioptre power of lens will be

(1) 0.02 (2) 2 (3) 6.2

NTSEY20-21-SAT-702-8
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14.

15.

16.

17.

NTSE(1)/20-21-SA1-702-3

(7 SAT-2

(T fgm)

(Chemistry)
wfigadt w1 W e R -
(1) 3w>ga>dg (2) 3>\ >ga
(3) #\>ga>3m (4) fa>3m >z
Correct order of compressibility is -
(1) Solid > Liquid > Gas (2) Solid > Gas > Liquid
‘(3 Gas> Liquid > Solid (4) Gas> Solid > Liquid
<t 3 0.25 el 8 Sufm s 9 e d -
(I) 3.011x10% (2) 30.11 x10%
(3) 1.5055x10% (4) 15.055x10%
Number of molecules present in 0.25 moles of water are -
(1) 3.011 x 10% (2) 30.11 x10%
(3) 1.5055x10% (4) 15.055x10%

0 T T F FHGCA A3 Y e A v § -

(1) 12y whfves () 12 7w =

(3) 17 7 st (4) 11 7w wEASTE AT
Substance having equivalent number of molecules as in 9g of water is -
(1) 12 gofMagnesium (2) 12 g of Carbon

(3) 17 gof Ammonia (4) 11 g of Carbondioxide
Unt weites STl @ Sl GATY] SHATE ¢ —

(1) 101 (2) 102 (3) 103 @) 104
Atomic number of element having symbol Unt is -

(1) 101 (2) 102 (3) 103 ) 104

| B T.O.



SAT-2 ()

18.

19.

21.

22.

23.

FARE H wEmEE &= 99 pm R mﬁsﬁémﬁ%m&ﬁﬁmaq&g}rﬁ »

(1) 1.98 pm (2) 495 pm 3) 99 pm (4) 198 pm
Atomic radius of chlorine is 99 pm. Distance between nuclei ot its two atoms in
molecule will be-

(i) 1.98 pm (2) 49.5pm (3) 99 pm (4) 198 pm

T a1g 'M' & TS N SUET MCL, 31 'M' % HTaTEs s NOER el -

(1) MO (2> M,0 (3) MO, () MO,
Molecular formula of chloride of a metal 'M' is MCI,. Molecular tormula of oxide
of M will be - )

(1) MO (2> M0 (3) MO, ) MO,

Wi oo | Vg AT Tt g o it Jugaa faft @ -

(1) Tr=em (2) freefmor (3) 3Itdumw (4) amwaEA
Suitable method for separation of pure naphthalene from sandy naphthalene is -
(1) Filtration (2) Crystallisation (3) Sublimation  (4) Distillation

FEgeH = wigen [HY] = 1 x 10~ At/ aret e 6 pH gt -

() 3 2) 4 3) 7 @ 10

pH of the solution having hydrogen ion concentration [H'] = 1 x 10 * mol/L., will be -
(1) 3 (2) 4 3) 7 @) 10

gt TA-aR g § -

(1) HCO;,CO; (2) NHj,NH, (3) OH, HO, (4) NO,,NO,
Conjugate acid-base pair is -

(1) HCO;,CO¥ (2) NH{NH, (3) OH,HO, (4 NO, NO,

m%ﬁwﬁmﬁﬁmm(mcnﬁma}ﬁﬂmﬁ%ﬁmmﬁn%~
(1) H, 2) Cl, (3) HCI (4) CO,

Gas used for precipitation of pure common salt (NaCl) from saturated solution of
common salt is -

(1) H, @) Cl 3) HCI (4) CO,

NTSE(1)/20-21-SAT-702-B



24

)
CuSO, +7Zn —— ZnSO, + Cu
S HTNseaT & way o Tt Fe 2 -
(1) CuR &1/ Zn &m0 sttt § )
(2) Cu=R g | Zn atfves srfirfmamsier |
(3) Cuaa Zn 6 siframfiera woam @ |
@) Cugri Zn Renftm g |
CuSO,+Zn —— ZnSO, + Cu
Correct statement related to the above reaction is -
(1) Zn is less reactive as compared to Cu
(2) Zn is more reactive as compared to Cu
(3) Reactivity of Cu and Zn is equal
(4) Znis displaced by Cu

fRriteor fsror s | SuaRh ueret @ -

(1) NaOH (2) NaCl

(3) NaHCO, (4) CaSO,.2H,0O
Useful substance in preparation of freezing mixture is -

(1) NaOH (2) NaCl

(3) NaHCO, (4) CaSO,.2H,0O
Tt 0 oy it wE wgd W E -

() Au,Cu,K,H (2) Au,Cu, H, K
(3) Cu, Au, K, H 4) Cu, Ay, H, K
Correct increasing order of reactivity of elements is -

() Au, Cu,K,H . (j) Au, Cu, H, K
(3) Cu, Au, K, H (4) Cu,Au, H,K

NTSE(1)/20-21-SAT-702-B
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SAT-2 (10)

(F=eafa fgm)
(Botany)
27, e e v R e e T § aeh s 2 |
(1) Ha=t (2) wa=
(3) Atz (4) wwEEEe
In which of the plant group chitineous cell wall is found.
(1) Algae (2) Fungi
(3) Thallophyta (4) Bryophyta

28. gRacas & form Wt § wemides srfviferar @ Bt 21

(1) = (2) =med fufw

(3) ¥ 4) AT
The light reaction occurs in which part of the chloroplast.

(‘.1') Stroma (2) Outerwall

(3) Grana (4) None of above

29. JaTe S| S W FenyEi § fhE dea it B S R )
(1) s 2) wgsm
3) wTEEH (4) e
Lack of which element occurs when Algal Bloom is formed in a waterbody.

(1) Oxygen «€2)" Nitrogen
(3) Hydrogen (4) Calcium

NTSE(1)/20-21-SAT-702-B



(rn SAT-2
SUBIE SRR IR IS (IR AU 3RS G S

(1) STen () wTEA

() Ruread () MSwmEn
I'he plant group called "pollution indicator" is.

(1) Bryvophyta (2) Lichen

(3)  Gymnosperm (4)  Pteridophyta

3. THA WHEHEOT R F, et R wrew ovqam
() 3:1 2) 9:3:3:1
3) t:2:1 @) 1:3
Genotypice ratio of I, generation in monohybrid cross is :
(H 3:1 (2) 9:3:3:1
(3) 1:2:1 4 1:3
3. WREEAR |
(1) STRTEw |egan (2) RRem weran
(3) ufifen edwistea (4) han A
Rabi Crop is :
(1) Oryzasativa (2) Triticum aestivum
(3) Pennisetum typhoides (4) Zeamays
33, aen 3 Wi sTE R 2l
(1) wAtew (2) weTwew
(3) TwEH (4) o
Kevla Devi National Park is situated at -
(1) Karnataka (2) Madhya Pradesh
(3) Rajasthan (%) Gujarat

NTSE(1)/20-21-SAT-702-B [P T.0.



SAT-2 (12)
(sroft form) 37.
(Zoology)
34, arErE A I
(1) weife (2) fewdfn
(3) fue v @) B
Disease caused by Virus, is
(1) Malaria (2) Diptheria 38.
(3) Chicken pox (4) Leprosy

35. e ® | e sngiiuiet 9 W 9eR T8 g

(1) Rey vt (2) g
(3) i (4) o
Which of the following is not a member of phylum Arthropoda -
(1) House-fly @2y " Barthworm
(3) Shrimp (4) Cockroach
36. et =% i frm srareen § DNA <1 Sgetson 2t @
(1) G-lvreen (2) G-Il v 40.
(3) M-wmEean (4) S-vrereRn

DNA synthesis occurs, in which stage of cell cycle.
(1) G-I phase (2) G-I phase
(}’)/ M-phase (4) S-phase

NTSE(I)/20-21-SAT-702-B NT!



(13) SAT-2
37, @ grersh TISH i SSTT §
(1) o (2) A
(3) wEERA (4) =fFTEs
Example of Fat digesting enzyme is
()~ Amylase (2) Pepsin
(3) Lipase (4) Nucleases

3, R [RIUTl & TRHI] St ¥ 9 8 aEea™ ¥ R fream wida amfes

(1) =i 9Fg I== (2) EIRER dHEEH

(3) . dem W (4) . guft it s

Indian scientist known for research on cosmic rays and nuclear energy

(/I’)/ Dr. Prafullachandra Roy (2) Chandra Shekhara Venkat Raman
(3) Dr. Panchanan Maheshwari (4) Dr. Homi Jahangir Bhabha

39. A BIER FERT e B

TPE—

() s (2) “ER
O w (4) =
Tal chhapar wild life sanctuary is located at
(1) Alwar (2) Jaipur
(3) Churu #@) Kota

N. frafm - C =it ¥ Bvamen I E

(1) wwelt (2) wih
3) h-ad (4) Fhem
? Disease caused by deficiency of vitamin - C is
| Cy] Scurvy (2) Nightblindness
() Beri-beri (4) Rickets
NTSEQ)/20.51-5 AT 702-B [P.T.O.



SAT-2 (14)
(rfra)
(Mathematics)
41. afy=gae 3x° +x2—4x+P 3R+ Px®+ 3x —3 W x — 2 | WA & W GHH NAEA TH
a2 &t P S WA 4 8 -

) + ® 3 6 -3 @ -3

If polynomials 3x* + x* — 4x + P and 2x* + Px? + 3x — 3 are devided by (x — 2) then
get the same remainder. What will be the value of P.

M) +3 ® 3 ® -+ @ -3

42. Tt fivm =1 3o, WA 3 w0 afe w1 A 4 g fou v qen @ H 2 wen fou e @ atw, wmw
A A S B, o o = gnft -
5 4 2 5
O 3 @ 3 G) < @ 3
Numerator of a fraction is 3 less than its denominator. If 4 is added to the numerator

and 2 is subtracted from the denominator then the numerator becomes 2 times of
the denominator. What will be the fraction?

5 4 2 5
(1) 3 2 3 @) 3 @ 7
43. Th THERYS % Tedeh ARV A WH 165° A el H v gt -
(1) 24 2 72 (3) 26 4) 12
If each interior angle of a regular polygon is 165° then the number of sides will be -
(1) 24 2 72 (3) 26 4) 12

44. o g o il il 6 Al o I 3 ;4 ;5 R A e W SR v W -
(1) 55° 2) 65° (3) 80° 4) 75°

The measures of Three angles of a triangle are inratio 3 : 4 : 5, then the measure of
its greatest angle is -

(1) 5s5° 2) 65° (3) 80° 4) 75°

NTSE(I)/20-21-SAT-702-B

45. AR TH
(1)

If area

(1) 2

46. ThHET
1 o ft
1 1
Each f
equal |

1) 1

47. o

(1) 4
() 2

The tit
(1) 4

@) 2
48. af co

(1)

If cos

(1)

NTSE(1y
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(15) SAT-2
s, aft T W B 0 et 64/3 o At 1t e e B -
() 24300 (2) 48¥h (3) 64 arh (4) 32@f
If area of an equilateral triangle is 643 cm®. Then its perimeter will be -
(1) 24em @) 48cm (3) 64 cm (4) 32cm

46.

e O 1 T U8 144 et 40t 2, afR smem ¥ W wAe ZR S et ) A
# aie fmn S A A1 W @ Tl ge geee g -

() Us2aid® Q) l052adad® (3) 288miadt  (4) S576@ A
Each face of a cube is 144 em?. If cube is cut by a plane, parallel to it's base in two
equal parts, then the total surface area of both the parts will be -

(1) 1152 cm? (2) 1052 cm? (3) 288 cm? (4) 576 cm?

1. P o 5 e e A L e o B T R i

(1) 45 fme 30 @wvs (2) 45fme
(3) 22 fa=e 30 @wvs (4) 22fme
3
The time does the minute hand of a watch take to describe an angle of 37 radians is -

(1) 45 minutes 30 seconds (2) 45minutes

(3) 22 minutes 30 seconds (4) 22 minutes

48. afd cosec A=2,d tanA+ CO‘.QA & TH T -
l+sin A
1 2 i , i}
D 75 @ 75 () i 4) 23
If cosec A = 2, then the value of tan A+ CO?A will be
’ I+sin A
1 - 5 2 . |
NS @ 5B 3) Ve 4) 2.3
NTSE(I)/zo-z1-SAT-702-B [ PT.O,



SAT-2 (16)
49 qzsmaan@ma’tm'ﬁ 2 wiex 3R 20 Wi ova wE 8, afe 37k ural & = | lS?ﬁa‘cﬁq&

M,

3l.

2 o Ik Fad fRi % = R gl ged -

(1) 15 (2) 16 iR (3) 17 %R (4) 18#H=R

Two poles of height 12 meters and 20 meters are standing on a plane ground. If
distance between their feet is 15 meters, then the distance between upper ends of
poles will be -

(1) 15 meters (2) 16 meters (3) 17 meters (4) 18 meters

wagdl H T AW R ek Bl U ww e e 3t T8 TR § -

17,2,7,27, 15,5, 14, 19, 10, 24, 9, 8, 6, 18, 28

o grr Wi fehu T aveRt @ wemes g -

(1) 14 2) 16 3) 15 4) 17
Following are the points obtained by a Kabaddi team in various matches.
17,2,7,27, 15,5, 14, 19, 10, 24,9, 8, 6, 18, 28

the median of the points obtained by the team will be -

(H 14 (2) 16 3) 15 4 17

forell Tt o HgA & TR U W A U e g oA 3 avd w24 fee o §, et
et FAHR T W HGH Tl Teh TRt G ot | UgA i 18 e it v wrmen § | | ok g
T § T § Ueh & WHY W ST TR A 2 e Uk ¢ fovn # =rera @, @t v v &g @t
g TR o e -

(1) 48fwme (2) 24fme (3) 72fme 4) 36fme
Vaibhav takes 24 minutes to complete one round of a circular path of a sports field.
While Rohan takes 18 minutes for the same. Suppose both of them start from the
same point and at the same time and go in the same direction. After how much time
will they meet again at the starting point?

(1) 48minutes  (2) 24minutes (3) 72minutes  (4) 36minutes

femma Tl 3.3 12 4 7x 443 = 1 Tl =& @ -

(1) 49 2) 13 (3) 36 4) 62
Discriminant of the quadratic equation 3+/3 x* + 7x++/3 =0 will be -

(1) 49 @) 13 (3) 36 “4) 02

NTSE(/20-21-SAT1-702-B
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53

54.

55.

56.

37.

(17) SAT-2
afg TR S S HEt ug 20 R afR 22 af ug 50 3 @t g@em 30 & ug B -
(1) 66 (2) 68 (3) 64 4) 62
If seventh term of an arithmetic progression is 20 and 22™ term is 50, then 30" term
will be -
(1) 66 (2) 68 (3) 64 (4) 62
afg tan3P = sin 45°cos 45° + sin 30° A @ P s wm gmm - (P < 90°)
(1) 15°7em45° (2) 15° <= 60° (3) 15°qur 75° (4) 45°aur 60°
If tan3P = sin 45°cos 45° + sin 30°, then the value of P will be. (P <90°)
(1) 15°and45° (2) 15°and60° (3) 15°and75° (4) 45°and 60°

R U TeAt B R T A T BRI oS W S 311 ¥ o g I
arm -

(1) 30° (2) 45° (3) 60° 4) 90°

If ratio of length of a vertical rod and length of its shadow is 4/3:1, then the angle of
elevation of sun will be -

(1) 30° (2) 45° 3y 60° (4) 90°

(1) Forwwamg B= (2) wwEg B

(3) wwiga Bw (4) R B

Triangle formed by the vertices (2,-2), (2, 1) and (5, 2) will be -

(1) Scalene triangle (2) Equilateral triangle

BY Isoscelestriangle (4) Right-angle triangle

mﬁgaaﬁmﬁqa%aﬁiﬁfﬁ%wﬁm-
1) == (2) THAR o THRR >
3) ==& (4) VFaA W =T W@l

Locus of the centre of rolling circle in a plane will be -

(1) circle 2) line parallel to the plane

(3) curve (4) line perpendicular to the plane

NTSE(1)/20-21-SAT-702-B
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SAT-2 (18)

AD 3 ,
54, fain e if DI || BC e o= R AC = 16 300w @ AL o 7 2 -

A
D I
13 22
I3 ¢
(1) 4y (2) 5y (3) 6% (4) 8z#mg
AD 3 . .
In the given figure DE || BC and ”:—; r if AC = 16 units then the value of AE will be -
A -
D £
16 units
i3 C
(1) 4units (2) 5units (3) 6 units (4) 8units

59, uft & foaz & gd 6wt et 1 45 fme | g3 g @A T Boadue @ saee ()

a1 g -
(1) 85.84 = e (2) 14.12 =t endt
(3) 84.85 = o (4) 12.14 =i gt

The length of a minute hand of a clock is 6 cm. What will be the area (approximate)
ol the sector swept by this minute hand with in 45 minutes.
(1) 85.84 cm? (2) 14.12 cm? (3) 84.85 cm? (4) 12.14 cm?

0. 7 ardl & U AR W @ el @ A 8 s i miteean @/ Bl

I 5 | 5
l , ) il " o
[nasingle throw of two dice, what will be the probability of getting a total of 8.
| 5 -
(1 o) < I , S
) ‘(, (-) () (“‘) ”() (-1) ‘;'(;

FEESEO)/0- 210 SAT-702-013



()l.

(1,

(vRrw)
(History)
farer asTet anl “or R & i R s s By
(D 2010-2013  (2) 2007-2010  (3) 2006-2016 (D
Which period is known as 'Arab spring'?
(1) 2010-2013 (2)  2007-2010 (3)  2006-2010 “H

SAT

te

2012-2015

2012-2018

fraferitr wemol ) wiengam A suateer wl ofit 9 Ru e & WE IR W@ w

(1) =i gg

(2) AW HHe

(3) I W

() wmrfern dwe

[ oA

(n 1,3,2.4 ) 1,2,3.4 3) 3.2,4, 1 @)

from the codes given below :
(1) Korea War

(2)  Swej Crisis

(3) Congo Crisis

() Somalia Crisis

Codes :

(D 1,3,2,4 D 1,2,3,4 3 32,41 ()

et # | @i v v gRfer 7 §7

e T TAH
(1) s - ariR
(2) wEATeRt - TR
(3) V=R - HAM
(4) g - HEHTEY
Which one of the following is not correctly matched?
Folk God Birth Place
(1) Jambhoji - Nagaur
(2) Jasnathji - Bikaner
(3)  Ramcharanji - Alwar
(4)  Dadu Dayal - Ahmedabad

NTSE(1)/20-21-SAT-702-R

2, 1,4,3

Arrange the following events in chronological order and select the correct answet

| PO,



SAT-2 (20)
64. frafrRaa o & e oo wem fava gg o ww git gl ® nfte T8 ar?

65.

66.

67.

(1) seet (2) R 3) @@ 4) gH

Which one of the following was not included among the Axis nations during the
First World War?

(1) Ttaly (2). Germany (3) Hungary (4) Turkey

‘A< WS’ Il AT i AT?

(1) =t vmeR e (2) sieRmeg wiesit

(3) =aw T (4) T THEE T

Who was the writer of 'Ananda Math'?

(1) Bal Gangadhar Tilak (2) Bankim Chandra Chatterjee
(3) Dayanand Saraswati (4) Raja Rammohan Roy

1857 <t wifa % dad # 370 A i v wdt gRfea 78 22
(1) imE - wAleh (2) gedaw aE9 - "
(3) FEER TR — g (4) T FeRa - WA

Which one of the following is not correctly matched with reference to the revolution
of 18577

(1) Bhimrao - Karnataka (2) Sultan Baksh - Madras
(3) Mulgabal Swami - Poona (4) Vijay Kudarat - Kerala

Tt It W ey Hiew R st % e e A 2
(1) == (2) weurE () e (4) ==

Dhapi Dadi is related to which village of Sikar peasant movement?

(1) Kudan (2) Palthana (3) Katrathal (4) Ghassu

NTSE(I)/20-21-SAT-702-B



(21) SAT-2
TR R CL T (o L7 P ————_—
(1) T (2) FReuwa (3) Tmu™ (4) fram

Which newspaper compared the Neemuchana massacre to the Jallianwala Bagh
massacre?

(1) Rajputana (2) Riyasat (3) Rajasthan (4) Kisan

69. Freferftra # @ wad uget anfarern R fran man 7

(1) weImsn yeea o (2) @

(3) whfm & (4) arREE
Which of the following was first invented?

(1) Flying Shuttle Loom (2) Water Frame
(3;’) Spinning Jenny (4) Powerloom

70. F=ferftm v | form ve wom o e sratée 3 Auymen @ Pwfor 5 wEmn?
(1) 3w (2) =ARE (3) wuyu (4) ==
Which one of the following places did not Swai Jaisingh build the observatory?

(1) Agra (2) Banaras (3) Mathura (4) Ujjain

", Pt i @ Rra vTEE @1 Al 3 % T H a g 3y
(1) @R (2) ¥RVME (3) o= (4) =R
Which of the following rulers tomb is situated in the middle of the lake?

(1) Babar (2) Sher Shah (3) Akbar (4) Jahangir
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SAT-2 (22)

72.

74.

(qm=)
(Geography)
T Rt § St 3 e e
(1) A B (2) = (3) IRSETR (4) FEerEn

Which lake is located in Rajsamand district?
(1) Talchhapar (2) Nauchouki  (3) Tordisagar  (4) Navlekha

. Trefefaa € 4 Fd QR w6 27
(1) = (2) =R (3) ==m (4) ==
Which one of the following is a food crop?
(1) Sugarcane (2) Tobacco (3) Barley (4) Tea
T - [ % g2 - [ | gaferm fife @ fr feg ™ 2 & o s e adt I s
Hifaw
gt - [ gt - 11
(TH=) (I &)
(A) a=n (i) R
(B) - (i) S
(C) zmea (iif) serg,
(D) sl fm (iv) wetan
A B C D

(1) @) @ @) @

(2) () (i) (1) (iv)

3) @) (v) Gi) (i)

(4) (v) (@) (@) (i)

Match List - I with List - IT and select the correct answer using the codes given
below :

List-1(Mineral) List - II (Producing Regions)
(A) Copper (1) Zawar
(B) Lead-Zinc (i) Degana
(C) Tungsten (i) Ghotaru
(D) Natural Gas (iv) Kho-Dariba
A B C D

(1) i) Gi) (v) (i)
(2) () (i) () (iv)
(3) () (iv) (i) (i)
(4) (iv) () (i) (i)
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(23) SAT-2
75. Wﬂﬁ%ﬁﬁxﬁﬁtﬁﬁzmmmg?
(1) fademe (2) == (G) @ (4) TR
Which district in Rajasthan is called as cement city?

(1) Chittorgarh  (2) Kota (3) Bundi (4) Pratapgarh

76. fAefciftm 4 @ TR w1 waitie werd @ e e e 2
(1) R (2) TER (3) =& (4) z=EF
Which of the following is the highest Literacy-rate district of Rajasthan?

(1) Ajmer (2) Jaipur (3) Kota (4) Udaipur

77. Trafeafes @ @ FR-91 g og @ 27
(1) f= (2) e (3) w () T
Which of the following is ferrous metallic mineral?

(1) Tin (2) Cobalt (3) Geold (4) Bauxite

78. - SraTad o A T T O A 7
1) 2) zi@ (3) (4) ez
Which is the major source of rainwater storage in the Shekhawati region?

(1) Khadin (2) Tanka @) Nadi (4) Johad
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79. wA @1 servia faEm @

(1) 8°4 zwit wenwn & 37°4 Tl eqmn

(2) 8°4' 3wt rerwr @ 37°6" IWh g

(3) 8°2 3wt wenivt @ 37°8' I Freximn

(4) 805" Twh varvr @ 37°5" I srearwn

Latitudinal extension of India is

(1) 8°4' Northern latitude to 37°4' Northern latitude
(2) 8°4' Northern latitude to 37°6" Northern latitude
(3) 8°2' Northern latitude to 37°8’ Northern latitude
(4) 8°5' Northern latitude to 37°5’ Northern latitude

80. freferRaa 4 @ w7 amet R @t # 7 et 22

(1) == (2) R (3) (4) e
Which of the following rivers does not fall in the Bay of Bengal?
(1) Kaveri (2) Mahanadi ~ (3) Narmada (4) Godawari .

81. ‘et Syt W g2
(1) oWa AR & Thamd
(2) Vi g ® YHEAERIE ThATdl | B AT al
(3) e g ¥ WTAER 7€ W g Al aul
(4) e g § Wfeem S § Ter STt AR -qEH
What is "Kall Vaishaki"?
(1) Cyclones in the Arabian sea
(2) Rainfall due to mediterranean cyclone in winter season
(3) Rainfall on the Malabar coast in summer season
(4) Dust storm in west Bengal region during summer season

82. ‘i fer W =@ § it oft |t AT | I e Tt 27

(1) sfterch s 3t (2) ittt T g

(3) et gefren 2t (4) it gt <t

Who coined the slogan "Jo sir sante Roonkh rahe to bhi sasto Jaan?"
(1) Smt. Amrita Devi (2) Smt. Jaana Bai

(3) Smt. Sushila Devi ~(4) Smt. Harsha Devi
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83.

84.

85.

86.
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(25) SAT-2
(Terfifer Rgm)

(Political Science)

e T TR %3 gl gan 7
(1) 307, 1949 (2) 15%, 1948

(3) 265, 1950 (4) 17awm, 1956

When was the unification of Rajasthan completed?

(1) 30" March, 1949 2) 15" May, 1948

(3) 26" January, 1950 (4) 1*November, 1956

2 g, 1959 T Tt s v ot e B s e 7 A A
(1) 3R (2) AmiR

(3) A (4) AR

From which district of Rajasthan, the modern three-tier of Panchayati Raj system
was launched on October 2, 1959?
(1) Ajmer

(2) Nagour
(3) Jaipur

(4) Bikaner

WA < WIAUm 0t st sftifrafia aiv snemfia ffa e

(1) 267awR, 1949 (2) 26, 1948

(3) 26%wad, 1950 (4) 26v=d, 1949
When was the constitution of India adopted, enacted and spirited?
(1) 26™ November, 1949 (2) 26" October, 1948
(3) 26" January, 1950 @ 26™ January, 1949

74 < wfaee wvier R Tia et < wwt s W & dee R e s § grag e
27
(1) 8<iemgant (2) 12 sgh A

(3) 10 rgeshd (4) 9 ogeshd

In which schedule of Indian constitution the functions of municipal councils were
listed by the 74" constitutional amendment?

(1) In 8" Schedule ' (2) In 12* Schedule
(3) In 10™ Schedule (4) 1In 9" Schedule
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SAT-2 (26)
87. wawm, 2014 # ‘g’ 1 18 &l e weiiem sl wwom gan?

(1) ue (2) & feeet (3) gEw (4) weda
Where did the 18" summit of 'SAARC' take place in November, 2014?
(1) Nepal (2) NewDelhi  (3) Bhutan (4) Maldiv
88. vitferen arftrrri @ TRl TR - [ R G - 11 @ gaferm @ g aé ke o 9 SR
Tl - 1 g - 1
(A) W 1 SRR (i) omede 19722
(B) virww % fereg atforern (i) eg=d 29930
(C) wepia 3iv fhen waeh sitern (iii) oF<DT 149 18
(D) &1 SRR (iv) aede 2324
% .
A B C D

(1) @) (i) Gv) ()

@) (i) Gv) i) 0

(G) @ @@ (@) @)

@) Gv) () (@) (i)

Match List - I with List - I Related to Fundamental Rights and choose the correct
from given codes

List-1 List - II
(A) Rightto Equality (i) Article 19to22
(B) Rightagainst Exploitation (i) Article 29to 30
(C) Rightto Education and culture (iii)) Article 14to 18
(D) Right to Freedom or Liberty (iv) Article 23 to 24
Codes :-

A B C D

(1) @) @) Gv) ()
(2) (i) (v) (i) ()
3) () @) (i) (iv)
@ Gv) (@) (i) (i)

89. T WAUTTER ToTae @t Sfderan Tet Je fohat 2t dendl 22

(1) 245 (2) 233 (3) 250 (4) 230

What can be maximum number of members of Rajya Sabha as per constitutional
provision?

(1) 245 (2) 233 (3) 250 (4) 230
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(27) SAT-2
s T 5 0 582 255t i e - e 0 0 €7

1 100 @ 107 3 105 @ 103
According to Which article of [nd: o 1! can be proposed in
Lok Sabha only? ¢ ofIndian constitution 'Money Bills' can b€ P
(1) 109 2 107 3) 105 4) 103
. ™ ﬁwm“wmﬁﬂaﬁmmmmwmaﬁmm%@l
I 87
e 2) vewEt
(3) T fumE seay

(4) Ta faamE IUEAE

Who has the right to casting vote if there are equal votes in favour and in against on
aquestion in the state Legislative Assembly?

(1) The Governor

(2) The Chief Minister
(3) The Speaker of State Legislative Assembly
(4) The Deputy Speaker of State Legislative Assembly

9] & wfqum gviem mﬁmmmﬁmammmmamz?

(1) Foemmm & g wew den =@ 10%

(2) fouram R F wew w@m w 25%

(3) TeerEw H Fo weem v = 20%

(4) Taumew R @ we@ T H 15%

How many members can be maximum in the state cabinet according to 91*
constitutional amendment?

(1) 10% of total number of members of legislative assembly

(2) 25% of total number of members of legislative assembly

(3) 20% of total number of members of legislative assembly

(4) 15% of total number of members of legislative assembly

T T ¥ il fRY oY T 08 SR R W 87

(1) 62=d (2) 60w (3) 65 (4) 68ad
Till what age can the Judges of high court hold his post?

(1) 62 years (2) 60 years (3) 65 years (4) 68 years
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SAT-2 (28)

(refwreR)
(Economics)
94. fifrm avefemeren AT 3 3
(1) == (2) wwa
(3) = (4) wa
The nation having a mixed economy is
(1) China (2) India
(3) Japan (4) France
95. #Ra wifa @ wRW gan
(1) 1966-67 (2) 1970-71
(3) 1988-89 (4) 2001-02
The Green revolution started in
(1) 1966-67 (2) 1970-71
(3) 1988-89 (4) 2001-02
96. WRA W HHA I
(1) Red=w (2) wrdm st e s
(3) fafa - smam &= (4) T S At 3o
The Central bank of India is
(1) State Bank (2) Indian Industrial Development Bant
(3) Export - Import Bank (4) Reserve Bank of India

97. @ W U vk fAfvaa srafts & fore e s e s @

(1) =t s (2) ==a S @

(3) =@ (4) et SET @

The money is deposited for a fixed period of time in this account

(1) Fixed deposit account (2) Saving bank account

(3) Current account (4) Recurring deposit account

NTSE(1)/20-21-SAT-702-B



SAT-2

(29)
03, 1 %mm%mﬁa’ﬁﬁqﬁﬁ%a‘r%m%
(1) IR foewmm (2) uwa =
(3) T foremr (4) wmE ™

99.

when the benefits of dev€10pment reach the people of all the sections of the society,
itis called

(1) Economic Development (2) Continuous Development

(3) Assimilated Development (4) Human Development

srefeareent H st 8t it wiftve 3 afig = 0 Wi s 2

(1) SR 2) Ffeo

(3) Ahiew (4) e

The process which increases the role of private sector in economy, is called
(1) Liberalization (2) Privatization

(3) Globalization (4) Swadeshi

100. ey st w1 AR 37 Ugl § smarga sAften SuEntt @

(1) sferesfea ag (2) oratrwitE g

(3) Taerravie wg (4) Torenfte g

The concept of Relative poverty is comparatively more relevant in these countries -
(1) Undeveloped countries (2) Under developed countries

(3) Developing countries (4) Developed countries

PSP P
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